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Instructions :

(i)  All questions in both the sections are compulsory.

(ii)  Marks for questions are indicated against each question.

(iii) Question No. 1 — 5 and 16 — 20 are very short answer
questions carrying 1 mark each. They are required to be
answered in one sentence.

(iv)  Question No. 6 — 8 and 21 — 23 are short answer questions
carrying 3 marks each. Answers to them should not normally
exceed 60 words each.
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(v)  Question No. 9 — 11 and 24 — 26 are also short answer

questions carrying 4 marks each. Answers to them should not

normally exceed 70 words each.

(vi)  Question No. 12 — 15 and 27 — 30 are long answer questions
carrying 6 marks each. Answers to them should not normally

exceed 100 words each.

(vii) Answers should be brief and to the point and the above word

limit be adhered to as far as possible.

Lus — A
Section - A

1. =33 T3t g0 A ST W U 9 i G SAEER ¢ | $9eht Shiud T
W : (T fosheq gHw) 1

31) 38 W U ¢ =5 | IS giad Tl 7 |

T) 39 9 Tohan 7o = " |

(
(&) 39 W foran I = se |
(
(

T) IUH H ¥ s ot |

The demand of a commodity when measured through the
expenditure approach is inelastic. A fall in its price will result in :

(choose the correct alternative)

(a) no change in expenditure on it.
(b) increase in expenditure on it.
(c) decrease in expenditure on it.
(d) any one of the above.
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2.

3.

SH-SIE T i IR gorar |l [@n 1 9% W gH o ¥ Q¢ Fad
8, wim ) B e - () e g

(+7) TR wd

(=) fireft STt 2

(&) et Sireft =

(3) & H firet 2, R wet 2

As we move along a downward sloping straight line demand curve
from left to right, price elasticity of demand : (choose the correct
alternative)

(a) remains unchanged

(b) goes on falling

(c) goes on rising

(d) falls initially then rises

TR |17 b1 gfvamsn S|

Define market demand.

JTad GuTfed (M) SR hiHd TaT seR B & : (Tl fohen gfu)

(37) et Ui SRl o Swaiid

(9) hadt THITHRIHE TTTTTAT o A=diid
(T) haet THITHR o IT=qid
(

g) Tuft TR & oI |
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Average revenue and price are always equal under : (choose the

correct alternative)

(a) perfect competition only
(b) monopolistic competition only
(c) monopoly only

(d) all market forms

5.  ITCUTIYehR <hl hig Ueh TorsiyaT SIqTsU | 1

State any one feature of oligopoly.

6. UMY AT TR T 7o § Hg hIfSu | 3

Distinguish between microeconomics and macroeconomics.

7. IcdTEH BT THT (I56) o 31ef R foivaTd sy | 3

State the meaning and properties of production possibilities

frontier.

8. SUAIfrn faeivwr i TR ¥ fe@mu foh s awg i A 3R 36!
ima ° fowia grere 2iar 8 | TWEse | 3

HAYAT

ST Ik 1 @I SROTTcHeh 41 BidT & ¢ gHeSU |
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10.

Show that demand of a commodity is inversely related to its price.

Explain with the help of utility analysis.

Or

Why is an indifference curve negatively sloped ? Explain.

EfemE I fafyr % or=ld SudiAT & Tged i I@l sl e
hifT |

Explain the conditions of consumer’s equilibrium under

indifference curve approach.

%ol 3IUE % AU W Ed] 3Tarai & 7 & fofym =wor samsu |
[T 1 JART I |

HAYAT

gfd &t fa = A it sfufae ot awemee | et w1 owEm
EAIS LY

State different phases of the law of variable proportions on the

basis of total product. Use diagram.

Or

Explain the geometric method of measuring price elasticity of

supply. Use diagram.

g whenfeiat & forg wea dwar 10 F A W
aftart STgaTal o oM o fafsm = we aforent i aemaT @ SamET |
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HAYAT

gfdd # aftEde SR qfd 31 AT § e ok s STat aHeEsy |

For blind candidates in lieu of Q. No. 10.

State different phases of the law of variable proportions with the
help of a schedule.
Or

Explain the distinction between ‘change in supply’ and ‘change in

quantity supplied.’

11. TSR TfNTdT < ‘ot o ety gawr o) sfefas’ foswar
gieoTml <Y ST hifsr | 4

Explain the ‘free entry and exit of firms’ feature of monopolistic

competition.

12. a%g X @I &Wd S 10 Jiowd gedt 8 a1 39l A 150 $Hh1E 9
TRt 180 ShTS B STt & | TR AT hl A I o1 THeheld shifSd |
ekl hiad foraw gfaera =2 for ekl BT 150 S ¥ 210 SHE @
e ? 6

When price of a commodity X falls by 10 per cent, its demand rises
from 150 units to 180 units. Calculate its price elasticity of
demand. How much should be the percentage fall in its price so
that its demand rises from 150 to 210 units ?
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FATTRa qTfeTeht ohi g0 ShITSTT -
3G | $d AT | 3THd IiEd] AnTd | EH AT | 3fied R
(=) | (%) (®.) (®.) (®.)
0 30
1 - --- 20 ---
2 68 --- - —
3 84 18 - —
4 --- --- 18 ---
5 125 19 - 6
Complete the following table :
Output | Total | Average variable | Marginal | Average fixed
units cost cost cost cost
Rs. Rs. Rs. Rs.
0 30
1 20
2 68 --- - —
3 84 18 - —
4 --- --- 18 ---
5 125 19 —- 6
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14. &Y % X h Tfcremos 9€q 2 | Y sl hHd =2 STl @ | 36 IR o6
IO X o SIS § BI4 dTel THTE 3hl @ ht ST hifsrg | 6

AT

T 9%] o fd A shi IRl Fgad hivd W INTEl @ i
STEAT SHITSIT |

Good Y is a substitute of good X. The price of Y falls. Explain the
chain of effects of this change in the market of X.

Or

Explain the chain of effects of excess supply of a good on its

equilibrium price.

15. Uk BH o 3Icd1E hl ANTd dlfeienl i< af TR 8 | 3cured o i T |
3Icq1e <Y U SoRTS ST Shi|d 12 %. 2 | THTd a3 HH|id geanfy
(o) fafsr & dqe 3TAEH T T J1A hIY | 379 3T ok hR0T

EIELE 6
3T (3HTS) 1 2 3 4 5 6
3ad (%) 12 | 11 | 10 | 10 | 104 | 11

Given below is the cost schedule of a product produced by a
firm. The market price per unit of the product at all levels of
output is Rs. 12. Using marginal cost and marginal revenue
approach, find out the level of equilibrium output. Give reasons

for your answer :

Output (Units) 1 2 3 4 5 6

Average Cost (Rs.) 12 11 10 10 10.4 11
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@us - d

Section - B

16. TS ool 1 ATH Fa STHISAT 1 S AT TRA Rid ik o a4
TEAT BT & 39 : (T faehed giw)

(31) Hifafersh qietar STgUTd Fed &

() T 31JUTd Fed &
(|) TRfed Fohg T
(]) STfeh Iy 31U

The ratio of total deposits that a commercial bank has to keep with

Reserve Bank of India is called : (choose the correct alternative)

(a) Statutory liquidity ratio
(b) Deposit ratio
(c) Cash reserve ratio

(d) Legal reserve ratio

17. 99 | I TG ST Ghal © : (T2 fashed giw)

(3) sfeh 2T ST

(=) e fostd e g aeT s S
(

(

H) oha <h[¥ HJUId slglchl

3) IWIh H forell o T AL
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Aggregate demand can be increased by : (choose the correct

alternative)

(a) increasing bank rate
(b) selling government securities by Reserve Bank of India
(c) increasing cash reserve ratio

(d) none of the above

18. 37k AUSTI o1 379f dTEU | 1

Give the meaning of involuntary unemployment.

19. STfHeh oTeT T BT R 7 1
What is primary deficit ?
20. A T i 37 FAET | 1

Give the meaning of balance of payments.

21. f<m FEgeli IR Aevadl awgeli # 98 HIST| T o1 TH-Th
ESRUKHIS I 3

Distinguish between final goods and intermediate goods. Give an

example of each.

22. T % oI o 1 a9y | 3

HAAT

ST SATYfd o1 79 3TN ek Th FaTsy |
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23.

24.

25.

Explain the store of value function of money.

Or

State the meaning and components of money supply.

S oh! Tcd&d ST TTE il H TIehd hid 1 HTUR THIAT | TR0
3ITT |

Explain the basis of classifying taxes into direct and indirect tax.

Give examples.

o1 Sioh TR ohT Skl oh hTd ohl SATEAT ShifSy |
YT

BT AL o e 4 o W & (Ifd geia &) ht sjfeRT sl amedT
hifT |

Explain ‘banker to the government’ function of the central
bank.
Or

Explain the role of reverse repo rate in controlling money

supply.

TS fohd TohR LRl SISTe 3T TIauT hl THTferd o TehdT & 7

Explain how government budget can be used to influence

distribution of income ?
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26. T ASTEEIT Fged H B | 39k 9k H fou v Fefafad et @
T ST o1 qiher shifsTg |
(1) A™@=5000
(i) HT= s=d ygfd = 0.2
(iii) Fraer == = 800
An economy is in equilibrium. From the following data about an
economy calculate autonomous consumption.
(1) Income = 5000
(i1) Marginal propensity to save = 0.2
(i11) Investment expenditure = 800

27. Toesft ge1 it Fmd ded W I5Eh T FA T | 3R qfd o Fedt g 7
THATRY |
Why does the demand for foreign currency fall and supply rises
when its price rises ? Explain.

28. 3T % AU o G o &Y H Tkl Q31T 3418 i TR-Hifsen fafmr’
HiuT sht =me it |
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HAYAT

[N NI e

31 o TT] IS 1 IThaH i gHT (HHTARad o &1 1 S8R
T ? 3T I oh [T FHROT ST -

() 2Tk ook <kl TorawTl H STRETSTT g ST ore

(&) TS g e o Taasdn foaw W fdu e 3uer

(@) facsh wieeni g0 @lieT T 9H

Explain ‘non-monetary exchanges’ as a limitation of using gross

domestic product as an index of welfare of a country.

Or

How will you treat the following while estimating domestic

product of a country ? Give reasons for your answer :

(a) Profits earned by branches of country’s bank in other

countries

(b) Gifts given by an employer to his employees on independence

day

(c) Purchase of goods by foreign tourists
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29. (%) R AN W Haa <3 Icu1e 991 (@) Tohal THT TSI 3T

Iiehet hifeTT :
(%. Ui H)
() | Fsh e sasm e 8000
(i) | =it Sf=m Ui == 1000
(iii) | i 70
(iv) | M 120
(V) | /= YSh o1 3UAA 60
(vi) | Tera St 1= St et 500
(vii) | Eieh § iterdH 100
(viii) | farceTi ol ek 3T 40
(ix) | focet & R o 90
(X) | ATIE 700
(xi) | @mfeien TR 50
(xii) | forewTi =Rl FHae =ITe] FedTa (-) 30
58/1/1 15
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Calculate (a) net domestic product at factor cost and (b) gross

national disposable income :

Rs. in crores
(1) Private final consumption expenditure 8000
(1i1)) | Government final consumption expenditure 1000
(111) | Exports 70
(iv) | Imports 120
(v) | Consumption of fixed capital 60
(vi) | Gross domestic fixed capital formation 500
(vii) | Change in stock 100
(viii) | Factor income to abroad 40
(ix) | Factor income from abroad 90
(x) | Indirect taxes 700
(xi) | Subsidies 50
(xi1) | Net current transfers to abroad (-) 30

30. A <fifsre f faw & gfg 1000 Fie &, 2 3R Huta 3udm ygf 0.9
], 1 TUTk <t UfshaT THEsT |

Assuming that increase in investment i1s Rs. 1000 crore and
marginal propensity to consume is 0.9, explain the working of

multiplier.
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